BEFE 323 SRR F T

Series

DRk RS
QEREEMER

R 4 6 8 10 12 16

K (m a4 @6 @8 @10 @12 @16
O3
il N IEEA 55° HEEIRLL 55° HEIRLL
] M3 M5 M6 01 02 03 04 06 GO1 G02 G03 G04 G06
#Mig  |[M3X0.5/M5X0.8| M6X1 R1/8 R1/4 R3/8 R1/2 R3/4 G1/8 G1/4 G3/8 G1/2 G3/4

O ZIBETNERAL, EEEARAALE AL
OLIAERR D RA A, WA TIRERINEAL, SR EFEEL

ER R =5,k (BEH)
TEEHEE 0~1. OMpa
FREZES -100Kpa(10Torr)
TIERESEE 0~60°C
PEFIEL B ITHE
EMRE 4mm | 6mm.1/4mm | 8mm.5/16mm | 10mm.3/8mm | 12mm.1/2mm
RIFEEIR 500r.p,m 400r.p,m 300r.p,m 250r.p,m
EHE ( TR ) % (REE)
Packing(NBR) Back Ring(POM)
WREESE (BE ) 1 (# 548)/Collar(Brass)

Plastic body(Nylon)

FEZ/Nylon Tube

PU#/Polyurethane Tube
SR
OBV ( TREMEL ) [
O-Ring(NBR) )
ogem) ))
Shaft(Brass)
wk % (EaE) P o (R
Upper ballcover(Bras\s)\" 1 ' Sleave(POM)
wigE \OEA [ REW )
Shaft end ring ", Lock Claws(SUS)

HATE (8 )

Under the bearing Nt i i‘
cover(Brass _ Bearing
R (BRE)

ORIE ( THRE )

o H (R o . Metal Body(Brass)
| |ﬂg P e ————

37 GINIER



@D

L3

I

L1

RL hEdE R HiR R in

38

H
W:u ]I

o] 5% ER 14 IRt iz 2%
] }Eﬁ LGN
il @D R L1 L2 L3 P H
RC4-M5 4 M5X0.8 3 34 16 10 12
RC4-M6 4 M6X1.0 4 35 16 10 12
RC4-01 4 R1/8 8 36.5 16 10 14
RC6-M5 6 M5X0.8 3 35.5 16 12 12
RC6-M6 6 M6X1.0 4 36.5 16 12 12
RC6-01 6 R1/8 8 38 16 12 14
RC6-02 6 R1/4 11 42 16 12 17
RC8-01 8 R1/8 8 41.5 18.5 14 14
RC8-02 8 R1/4 " 455 18.5 14 17
RC8-03 8 R3/8 12.5 | 48.5 18.5 14 21
RC10-02 10 R1/4 1 53 21 17 17
RC10-03 10 R3/8 12.5 56 21 17 21
RC10-04 10 R1/2 15 58.3 21 17 24
RC12-02 12 R1/4 1 58.3 23 20 17
RC12-03 12 R3/8 12.5 | 61.3 23 20 21
RC12-04 12 R1/2 15 63.6 23 20 24
RC16-04 16 R1/2 15 64.6 24 24 27
EilR= @D R L1 L2 L3 L4 P H
RL4-M5 4 M5X0.8 3 18.5 27.8 16 1" 12
RL4-M6 4 M6X1.0 4 18.5 28.8 16 1 12
RL4-01 4 R1/8 8 18.5 30.4 16 1 14
RL4-02 4 R1/4 11 18.5 34.4 16 1
RL6-M5 6 M5X0.8 3 19 28.8 16 13 12
RL6-M6 6 M6X1.0 4 19 29.8 16 13 12
RL6-01 6 R1/8 8 19 314 16 13 14
RL6-02 6 R1/4 1 19 35.4 16 13 17
RL8-01 8 R1/8 8 22.5 34.4 18.5 14.4 14
RL8-02 8 R1/4 1 22.5 37.9 18.5 14.4 17
RL8-03 8 R3/8 12.5 225 | 40.9 18.5 14.4 21
RL10-02 10 R1/4 1 27.5 41 20.5 18.4 17
RL10-03 10 R3/8 12.5 275 | 434 20.5 18.4 21
RL10-04 10 R1/2 15 27.5 | 45.7 20.5 18.4 24
RL12-02 12 R1/4 11 29 41.5 23 21 17
RL12-03 12 R3/8 12.5 29 43.9 23 21 21
RL12-04 12 R1/2 15 29 46.2 23 21 24
RL16-04 16 R1/2 15 32.5 57.6 24 26 27

GINIER




